Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

|Registration No.

Name

Test Venue Confinet It Solutions Pvt. Ltd
Test Time 4:00 PM - 5:00 PM

Test Date 05/07/2019

Section : General Intelligence

Q.1 i =afral A, B 3R C & g sremT-srem AfA 1 afe A, C @ T12 AaT &, at A & UrT B & SRR
af ghiftl A 3k B & urt et fAetr o 3102 &1 A & s fraa wud 2

Ans X157
/X 2.55
/X 3.50
f 445

Question ID : 98958016817
Status : Not Answered
Chosen Option : --

Q.2 TfE LUCRATIVE & 333912945 & &U # hiSdg fehaT SITdT &, af AMSTERDAM oht @ hisag
foram sMETIT?

Ans X" 1 131458311
of 2141250414
7 3149248414

/X 4141248414

Question ID : 98958016808
Status : Not Answered
Chosen Option : --

Q.3 39 farerea 1 =g & ot Fi R sreR-Tvg @ It avg Hefdrd & SR gt 31eR-Tg uget SfaR-
g | Hefda 81

GSDL : JPGI : : UCWF : ?
Ans X" 1.wzzB

X 2.xyve
/X 3.vzzD
o 4.xzzC

Question ID : 98958016809
Status : Answered
Chosen Option : 2

Q.4 fF=fafRd afieor & 9 am & forg 399 o &t Rigl &t go-gaR @ aee= ghm?

211 %14+ 627 +33 -17 =520
Ans X" 1 4R+




JZ.X\HER—
X 3. +3iR-
X4_+Gﬁ?x

Question ID : 98958016818
Status : Not Answered
Chosen Option : --

Q.5 fa=fafEa nfafafdal @t v sifdhiar ik Tl o d axafedya &2

1. Tefifaer siffeat & e e

2. QT 37TE ST [ el

3. ¢ 9 Hudh wen

4. TAfAsT it 731 1 O3 g
5. Thfasr &t = &=

Ans X" 1.4,51,32
W 251342
/X 351,423
/X 4.3,51,2,4

Question ID : 98958016806
Status : Answered
Chosen Option : 2

Q.6 fA=ffEd arR TEarsit & @ v e v AfYa adis @ var 919 @ 3R ek 3rel &1 39 31emt
T 94 HifSigl

Ans  of 1 127
X 2118
75 3.129
X 4.130

Question ID : 98958016823
Status : Not Answered
Chosen Option : --

Q.7 fFA=faflea ar srarR-agl # @ & sigr-wwg ua e a¥ich & g 4 & ok gk s 8139
3T 31&R-UHE &l g
Ans " 1.1MQU
/X 2. SWAE
W 3. AFIM

/X 4.uUvce

Question ID : 98958016814
Status : Answered
Chosen Option : 3

Q8 37 7 W F T F I EEASET T F T F TEY A FEY HTOT AT ¥

urg, ST, 9T

Ans




X 4

88®8

Question ID : 98958016830
Status : Answered
Chosen Option : 2

Q.9 Ueh his ¥TST &, PROMOTE & QTROGVQ & =q # forRar a1 g1 39 9o # LICENSE &Y @
forar smem?

Ans X" 1 EKNGPUG
/5 2. NKEGGUP
75 3. EKMHHUP

o 4 EKNGGUP

Question ID : 98958016807
Status : Not Answered
Chosen Option : --

Q.10 T 38R} & HIIST T TG < il foh &Y 7T 31&R 3@ & R<h T | shffies ©U § @ 5T W)
SR Tt GRT |

xq__mcc__qpfm__bx__fmc_b
Ans x 1. gfbxccgpe
x 2. sfbceeqpe
X 3. pfbxcxgpe
« 4. pfbxccqpe

Question ID : 98958016811
Status : Answered
Chosen Option: 1

Q.11 A+BaTAS g ‘AT & B <hr'
A-Bawaf g Aufa @ Bamr
AxBwTAfgATgaIg B
A+BarfgAddgB A




GREFxRxS+G-P+ X8 at X frg R dfRa @ RA?
Ans  of 1 FETaTATR
/< 2. aarad
75 3. e ar Avn
75 4. drar ar ot

Question ID : 98958016812
Status : Answered
Chosen Option : 1

Q.12 Select the word-pair in which the two words are related in the same way as are the two
words in the following word-pair.

Architect : House map
Ans X 1. Teacher : Writer

x 2. Doctor : Hospital
« 3. Carpenter : Furniture

x 4. Lawyer : Court

Question ID : 98958016813
Status : Answered
Chosen Option: 3

Q.13 Three of the following four words are alike in a certain way and one is different. Pick the
odd word out.

Ans x 1. Triangle

x 2. Rectangle
X 3. Circle
« 4. Diagram

Question ID : 98958016815
Status : Answered
Chosen Option: 3

Q14 3pr o 290 F AT F @ 3R @ I A T av B & of gder ofy @ owwa =Y
4RF8932Zfk2

™ vigHlisEe83IAD
x-€)Y3s€ELC8IARL
X2 ZHISEE84UD
x-CN1S€E687AY1

Question ID : 98958016829
Status : Answered
Chosen Option : 1

Q.15




58 RweT 1 T F{ Bwd Revew e T el # gEe F saefa 76 )

BN

IEEA i

Ans

1A

X

Question ID : 98958016827
Status : Answered
Chosen Option: 2

Q.16 T I Heitl 'AYHAE' & I UFR g 517 ‘are’ @1 Hae'! 'q8l
Ans X1 AR

K 2. %

o 3.5R

X 4 =

Question ID : 98958016810
Status : Answered
Chosen Option : 3

Q.17 o= & 9r& & 3 sreer-areeT [BufaEt # A g o &, e o wow W 1 ¥ 6 gEa A 2
'3 HET AT GO F @1 Jrer §E A e

Question ID : 98958016824
Status : Answered




l Chosen Option : 2

Q.18 IH THIY I T < O1TH TEAT I avg  Haifdd § o o FafefEa sy i deng
e €1

(4,9, 16)
Ans X" 1. (36,81,100)
75 2.(16, 36, 49)
o 3.(49,64,87)
75 4.(25,36,64)

Question ID : 98958016820
Status : Answered
Chosen Option: 3

Q.19 & FY Y 7Y &, 55 are i s |, 11 8= 11l R 71Q §1 =t @t e A ge, v & 3 oma
R WR T i | o g, ag Fvfa #ifSig s i 3/a R swvu=it @ arfdhes w0 @ srgaRorn
T g/hed &

HYU:
Tt srrgeshie S €1
E oft S[9 Tichete g 81

fAree:

|. © diheie AEHHH &

Il. 5 ST TEEshid &1

lll. T} off srrgEshin Tfeete 7 &1

Ans o 1 daer Fred Il iR 11l srgeRoT A B
75 2. Sae e | 3R 11 SER0T &R &1
75 3. et Frsd | 3R 111 SrgERT &% &
75 4.7 Frsee | srerar || SIEROT ST B

Question ID : 98958016816
Status : Answered
Chosen Option : 4

4 8 gt 3 et g g 37

Ans Jl 30
<229
<3 31
<4 32

Question ID : 98958016826
Status : Answered
Chosen Option : 3




Q21 g gl &1 997 FT S AT & T WGy FEen #F S T W AR

— [® [?)
N EE

Ans ]
v =

(o B

=

w o ==

( —

E =

X 3 =

- M—

[ O]

X

Question ID : 98958016825
Status : Answered
Chosen Option: 1

Q.22 v uresff o &7 T v Yo & anyr A fmr ¥ 3T ReeT & wua e AT 0g mar v
e Yo W OrEel ofe #r A 9T ded Fum fimr Eem)

_.y

v

Ans




Question ID : 98958016828
Status : Answered
Chosen Option: 1

Q.23 I HEAT-G™H T TG & (o194 gt Gy 341 avg @ H6fda & 9 s fafofas den-gm &
gl Heend Hefda &1

2:8

Ans  of 1 7:343
/X 2.9:629
25 3.11:1321
/X 4.8:502

Question ID : 98958016819
Status : Answered
Chosen Option : 1

Q.24 I9 THII T TG e (o1 TH HE&AT] SH1 avg § Hafda g o1 fos =i age=a i d=d
Tefda gl

(88, 56, 72)
Ans X" 1.(18,24,28)
/X 2.(62,48,52)
o 3. (66,48, 57)
/X 4.(34,28,21)

Question ID : 98958016821
Status : Answered
Chosen Option : 1

Q.25 fAfaf@a sigen d FiF-H e us Rig (7) & v w srgft?
28, 32, 41, 57, 82,2
Ans  of 1 118
X 2122
/X 3.120
X 4116

Question ID : 98958016822
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 dfSiT $fEar qwaew & Aaed Fi &7
Ans X" 1. gt S aregel e




75 2. o o

75 3 T
( 4. 7AE &g
Question ID : 98958016494
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.2 #£2019#, dnge Rafi sfaer ol utRfEufah a1 ofik afgen @ 3w & 596

e & fog e giRiae it & $av srar< 2018-2019' & wwfaa favan mam
Ans jygmﬁam
X 2 R figem
/X 3. v aerar
5 4 Femak

Question ID : 98958016502
Status : Answered
Chosen Option: 1

Q.3 WRAH 72018 ¥ fia EfITHT® ae aieR-16 T AT Fefral &

e sfiam
Ans X 1 g gsfig
75 2. e freerd
o 3. S i
/X 4. srae gifE

Question ID : 98958016500
Status : Not Answered
Chosen Option : --

Q.4 Fr=afafRe wemeil # @ foram oilfSn & wiondh w7 awamar ur?
Ans X" 1 g ofim 2

75 2. sridar drermea

75 3.9rg

o 4 =Rz taem

Question ID : 98958016493
Status : Answered
Chosen Option : 4

Q.5 s & ve fenff grr divtae & w0 & = fohy g SifmRfén Rew oo &t fres Refda
feram?

Ans  off 1 o RareE
/X 2. 9Ra forata

75 3. dweh dAmae
/X 4. RrrE gm. qeer

Question ID : 98958016486




Status : Not Answered
Chosen Option : --

Q.6 uehIn i fRRul SiieEt & amm= [T a1gd ok urResff dva= A glaw sife & uder &=t &, 3@ e
Fgd 8?7

Ans X1 &g
/X 2. 3ita & gaeh (amsRa)
< 3. sifai & 7 (s )
o 4. 9a veat ()

Question ID : 98958016484
Status : Answered
Chosen Option : 4

Q.7 THE & A1 el Y HYh 95k hY ILIETAT R T 82
Ans x1,u§qﬁf

o 2. e sremer

< 3. smgufy

X 4. yerEsh

Question ID : 98958016497
Status : Answered
Chosen Option : 1

Q.8 ¥R TR Fi yurEsh sm ahft a=-e9 (PM-SYM) dtsin & aga 3 gaad gAffa o
g ot fA fmaret &2

Ans X" 1.22000

o 2.23000

/< 3.24000

#< 4.21000

Question ID : 98958016482
Status : Answered
Chosen Option: 3

Q.9 fA=faf@d & @ H19-91 IRAT MR T @ F=1 =741 8, Silfer ARt 98 @ Rererar 82
Ans X 1 ZerRTR FRAT

25 2. sfdrifet g

of 3. <iaRT

725 4. gaeR IR

Question ID : 98958016489
Status : Answered
Chosen Option: 3

Q.10 1 SHa%t 2019 & HRdT Rerd s gRT 9ifta ada Hifafde a«fAfd srgura (SLR) a1 8?2
Ans X" 1.19.25 ufasrE

75 2.19.75 ufdera

75 3.19.00 ufdzra




o 4.19.50 vfera

Question ID : 98958016481
Status : Answered
Chosen Option : 1

Q.11 YR f@erdt et SiueT &1 day fFa @ 9 87
Ans X1 R

X 2. Rfvads

of 3. Safm it

75 4. gaherstt

Question ID : 98958016499
Status : Answered
Chosen Option: 3

Q.12 R AYRAWR_______ & gHer forar ATl
Ans X" 132349

75 2.4544q,

of 332640,

/X 4.467%7

Question ID : 98958016492
Status : Answered
Chosen Option : 3

Q.13 #2019 # yRa # fA=faf@da A @ S19-91 Tehara mar?

Ans X" 1 wghard e
25 2. gshara A=
o 3. e wrE

75 4. <rehard gage

Question ID : 98958016503
Status : Answered
Chosen Option: 3

Q.14 fAfeR e ufth dte Mia fra R Iog @ 9=fdqa 82
Ans X1 IR
75 2. sifesm

o 3. o
/X 4. ufgm s

Question ID : 98958016479
Status : Not Answered
Chosen Option : --

Q.15 2019 # StruT & AT Sfiaa are uger W & 8?
Ans X" 1 foheiR dhelt




o 2. i g
75 3. o g
/X 4. day et

Question ID : 98958016501
Status : Answered
Chosen Option : 2

Q.16 fFr=fafea 7 @ fra @« & 91y 'Sa' 21es o1 g &2
Ans X" 1 fondhe

X 2. Rfeads

/X 3. areheara

o 4 wEarsh

Question ID : 98958016498
Status : Not Answered
Chosen Option : --

Q.17 1991 #, I/ WTea? A WRA &1 ugen TW2ft ureheger faenfaa frar ut fiwenr
ol

Ans  of 1 w8000
75 2. i 5000
75 3. 7@ 2000
/X 4. yarg 3000

Question ID : 98958016487
Status : Answered
Chosen Option : 1

Q.18 ¥Rd & Hfdum & sr7=d< 100(3) & dad AlhHHT hY d5h T He & forg srafdra worgfef T

Fuedi M gadana____ gkt 3l
Ans B e
< 2.7 faerd
7 3. Uk 1 aiar iR
o 4 i e

Question ID : 98958016496
Status : Answered
Chosen Option : 4

Q.19 Somatotropin' is another name for
Ans J 1. Growth hormone

x 2. Tear gas
x 3. Laughing gas
x 4. Digestive juice

Question ID : 98958016485
Status : Not Answered
Chosen Option : --




Q.20 Frfaf@a & & WRa T Sl-91 ureh aRaT gaiT Ae ureh 87
Ans X' 1 Rumefiure

o 2. dga et

X 3. e

75 4. HETH

Question ID : 98958016490
Status : Answered
Chosen Option : 3

Q.21 F=fafEa 7 9 -4 g Agre d e 82
Ans qu(—.ﬁ;[

X 2.9

/< 3. sy

75 4. et

Question ID : 98958016491
Status : Answered
Chosen Option : 1

Q.22 Gouftardt_______ Isu @ wEfda gl
Ans X1 3w

X 2. ween

o 3. wEr

/X 4. dftrerrg

Question ID : 98958016480
Status : Answered
Chosen Option : 3

Q.23 foariarees & w9 d o=t ufaur uefia o & fog s Rafad o, ‘5 avda 3w 2019
fore™ sftar?

Ans X" 1. Sga de
W 2. Rt e
2K 3. aifer shforarem
/X 4. Wit et

Question ID : 98958016495
Status : Not Answered
Chosen Option : --

Q.24 FAfafEa # @ F9-@ e YRa i ga@ 98 9 e e @2
Ans X1 Rl

/X 2. HRTOM ydTg R

W 3. 7 s g @R

7< 4. o fte




Question ID : 98958016488
Status : Answered
Chosen Option : 3

Q.25 is the primary acid present in ripe bananas.
Ans  of 1 Malic Acid

X 2. Formic Acid
x 3. Sulphuric Acid

X 4. Hydrochloric Acid

Question ID : 98958016483
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q.1 fz3r 7w <F 3m@ (AR W) 9= fed T9, 2013-2014 ¥ 2017-2018, F e el Foer @ Afda
et ot ¥ e A BatE (ew ) @ o d

1000

20132014 2015 soieqs 201617 2007418

a¥ 2014-2015, 2015-2016 3 2016-2017 & =, For 3manel 3R ol &1 arqara fraam 2
At of 1. 3664 : 4455

< 24175 : 4011

X3 4011 : 4175

X 4. 4455 : 3664

Question ID : 98958017203
Status : Answered
Chosen Option : 4

Q.2 ey T &3 W (IR AWE) 9iT fed a8, 2013-2014 & 2017-2018, & Shuer fFlr S g =fd
Trelr @ F e A T @ #) # g B

1800 T o) ves1 = 1658 |
1600 | mimports 1838 1513
1400 T 1286 13058 |
1200 1014 |
1000
200 |
600
400
200

o -

2003:2014  0M-15 g5 01607 2007-18

ﬁmﬁwa&ﬁﬁuﬁ&ﬁrmﬁaﬁﬁwgﬁﬁnmqﬁ:%ﬁﬁa&ﬂwﬁmm?
Ans X1 2017-2018

v'2 2016-2017

X 3. 2015-2016

X 4 2014-2015

Question ID : 98958017205
Status : Answered




l Chosen Option : 1

Q.3 2 fegnfl, A ik B Rt e 7 1w g1 A #1 B ® 8 3% wfw e R Eadt # o, I
3R F TR F 55% | A 3R B ST 9t 30w

Ans X136, 28
X 2 40, 32
X3 38, 30
v 44, 36

Question ID : 98958017187
Status : Not Answered
Chosen Option : --

s A x=2—+3 @A *—x2 FIAF L
Ane X1 3042

X 2 3042

/< 3 3043

v —304/3

Question ID : 98958017193
Status : Answered
Chosen Option : 4

Q5 = ABC ¥ 30X TF e @iam 7w §1 g st AB, BC At AC #r w7 Rig P, Q iR R W
T FTar 21 FfE BP = 5.4 cm, CQ = 7.3 cm 3R AR = 6.1 cm, ar AABC = 9ifafy cm #) &

Ans X136
X2 37
X 3 3725
v 376

Question ID : 98958017195
Status : Answered
Chosen Option : 4

ae ﬂﬁ'se-::ﬂ:Sx&ﬁTtanG:E, (xi(})?ﬂ'g(xz—%) F AL &

2

Ans

A T R

Question ID : 98958017200
Status : Not Answered




l Chosen Option : --

Q.7 grwmad 7:5 & s3ga A §| e4F A § 40 Tes W, 39 O 27 1 17 & F0aw g gt a7
TR &

Ans X1, 240
X2 325
V'3 300
X 4 275

Question ID : 98958017188
Status : Answered
Chosen Option: 3

Q.8 f&ar Trr €3 MW (FW ;) o= faed Iuf, 2013-2014 § 2017-2018, ¥ e fardr Suair g fafda
et Il F e AT Tl @& #) # g B

1800 T o) = i858 |
1600 ].mmﬂs 1513

1400 1256 13050 |
1200 1014 |
1000

200 |
600

400

200

0.

20132004 20M-15 sgyeqg 201617 2017418

qrer feg aut & e oatal A smardl & & & oder gy & aima (39 &) e 7
Ans  of 1. 266

X 2 256

< 3 264

x4 260

Question ID : 98958017204
Status : Not Answered
Chosen Option : --

Q.9 FHT W 25% H g o vH AR 7 97 FEF WIL| A P B F T I 20% Fr
Fafea ge Fer A oF soeR MeF g #F A 10% # 3 g el 5§ 2405 7 apee R
FHA R o Fog F7 &7 (2 A7) 4

Ans X1, 600
X 2 650
V' 750
X 4 725

Question ID : 98958017185
Status : Not Answered
Chosen Option : --

Q.10 = 3 = ABC 3 PQR & smwa &7 391 4 © 5 § 3R 378 F=mgat & 397 5 3 #1
ABC 3T Tae=T PQR & ORI &I 3919 &

Ans X111 : 15
V212 : 25
K325:12




X415 : 11

Question ID : 98958017183
Status : Answered
Chosen Option : 2

Q.11 AABC A, ¢B AR £C & wAGRHH R & aex fig O W e §1 afy 2A=132° & 2BOC &

Ans

AT &

v 1 156°
X 2 84°
X 3. 66°
X 4 132°

Question ID : 98958017197
Status : Answered
Chosen Option: 1

Q.12 s ABC #, BC &1 wiame AB &1 =TS & g7 & 3 cm & §| AC & #aé AB &' #a1$ ¥ 9 cm

Ans

e 81 T 1 oA 34 om € TR FEW ORT 90 & oA (cm #H) '

X119
X2 8
x5 10
v 7

Question ID : 98958017198
Status : Answered
Chosen Option : 4

O3 afy 6(sec?59° — cot?31°) —25in90°— 3tan56°ytan®34° =L ¥, A y & A &

Ans

Question ID : 98958017199
Status : Answered
Chosen Option : 2

Q.14 ffr =z & 74,90,828 & vs 92+ @Wiwr 3 5% ¥5,52,920 & 37 R@7| =@ 9@A W e ofenE

Ans

T FTRAE 3T (& EEAT T a)?
~< 1. 1551%
v'2 12.65%
< 3 19.55%
X< 4 11.55%




Question ID : 98958017189
Status : Answered
Chosen Option: 2

Q15 R y Fr

Ans X1z = x2
X2z=x
Vi z=2x
Kazz=x3

x% 150 & 3T z T y% 300 &, @r x 3 z & &9 #1 Fow &

Question ID : 98958017186
Status : Not Answered
Chosen Option : --

Q.16 &z smar &= 31w (S I%) o= fed Twf, 2013-2014 F 2017-2018, & v frdr 9=t gz fEa

Ans

el Il F e s =TT (&= F) g g

1000 824

0132014 20M-15 opgqg 201607 2007-18

a focg o9 & it i smamat &7 fBdeT 3R (absolute difference) T8 &H &7

X< 1.2015-2016
X 2.2014-2015
V2 2016-2017
X 4 2013-2014

Question ID : 98958017202
Status : Not Answered
Chosen Option : --

W a3V a5V 2 FrxmrATE

Ans

vi8
X2 2
X3 1
X a4

Question ID : 98958017192
Status : Not Answered
Chosen Option : --

@18 ofr cosx=22 B-ﬁTT[(x(Z—“ , @r 2tan®x+ 3cosec’x & AW ¢

Ans

2
X138
<216




X34
v 410

Question ID : 98958017201
Status : Not Answered
Chosen Option : --

.19 :
Q {L Y -3
i M

5 5)7°5

1;{6_{-1 1]} FT TP A &

7 17 \775

Ans 19

2 EE
xa 22

Question ID : 98958017191
Status : Answered
Chosen Option: 1

00 g x+7)2+ (2x+8)%+ (2x+3)* =

3 (x+7) (2x+8) (2x+3) &, & x T AT 272
Ans X1- 36

v 36

X324

X424

Question ID : 98958017194
Status : Answered
Chosen Option : 2

Q21 g l+y’=a’ #ﬁa‘@ﬂ'ﬁgﬁaﬁ'xz+y2:bz T T T T9er Y@t Fr we=iE=r (chord of
contact), = x> +y? = ¢? F IH THFR TT § B bP —a™c". @ mn,peN.a 3R m, n, p TER
=T E S min+tp+3 F AL

as 17
<26
<32
K45

Question ID : 98958017196
Status : Not Answered
Chosen Option : --




Q22 zfx 10-37F #r F1E TEAT 1230x558y2, 88 ¥ fFsm=w &, aF (5x +5y) F AT &

Ans X1, 20
v 2 40
X3 30
X 4 50

Question ID : 98958017190
Status : Answered
Chosen Option : 2

Q.23 A, B 3l C Tt = i Fawr: 4, 20 AR 60 feedt F W F wHS €1 v T Foww FH 55 T

3T FH F T-fagre s & o A F o w7

Ans JT li

Question ID : 98958017181
Status : Answered
Chosen Option : 1

Q.24 = st & sitwa g 14 ¥ §) 595 R & o anfae @ e W e g 4 a¥ ag S &) Rar

#r g (@ ) ¥
Ans X140
X2 36
X3 38
v 34

Question ID : 98958017184
Status : Answered
Chosen Option : 4

Q.25 gy ot v =t @ e 5 0 7 #) oy vEelr & 3 ©E F 300 km W WA E, A 9gw &7 oI

(km/h #) freetr 2
ans (1140
v 2100
<3150
<4120

Question ID : 98958017182
Status : Answered
Chosen Option : 2

Section : English Language




Q.1 Fill in the blank with the most appropriate word.

The entrepreneur is looking for an
Ans ( 1. investor

x 2. aviator
X 3. invigilator
x 4. inspector

to fund his project.

Question ID : 98958016140
Status : Answered
Chosen Option : 1

Q.2 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. They used thin twigs called chew sticks as tooth cleaners.

B. The fuzzy end was rubbed against the teeth to keep them clean.

C. These sticks were fuzzy at one end.

D. How did people clean their teeth before the toothbrush was invented?

Ans  of 1 DACB

/< 2.BCAD
75 3.ACBD
/< 4.DBCA

Question ID : 98958016128
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate antonym of the given word.

FEROCIOUS
Ans X 1. prudent

x 2. cunning
X 3. fierce
J 4. gentle

Question ID : 98958016133
Status : Answered
Chosen Option : 4

Q.4 Identify the most appropriate option to substitute the underlined segment. If no substitution
is required, select No substitution.

| have a terrible cold during several days now.
Ans X" 1. had aterrible cold since

( 2. have had a terrible cold for
x 3. No substitution

X 4. am having a terrible cold during

Question ID : 98958016120
Status : Answered
Chosen Option : 4




Q.5 Identify the segment which contains the grammatical error.

Each of the pictures have been signed by the football star.
Ans X" 1. the pictures

X 2. Each of

( 3. have been

X 4. signed by

Question ID : 98958016117
Status : Answered
Chosen Option: 3

Q.6 Select the most appropriate word for the group of words.

A previous case that might serve as an example or guide in subsequent situations
Ans X" 1 president

X 2. predecessor
x 3. precursor
J 4. precedent

Question ID : 98958016137
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate word for the group of words.

One who is indifferent to pleasure or pain
Ans x 1. wise
x 2. temperate
X 3. brave
J 4. stoic

Question ID : 98958016136
Status : Answered
Chosen Option : 4

Q.8 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Her father had been stuck in an elevator for six hours.

B. Esha had heard from her parents about a blackout caused by a sudden storm.
C. She had to grope in the dark and cook by the candlelight.

D. Her mother's story had been quite different from his.

Ans X" 1 BDCA

/5 2.ADCB
o 3.BADC
/5 4.CADB

Question ID : 98958016129
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate indirect form of the given sentence.




My grandmother said, "I bore six children.'

Ans x 1. My grandmother told that she had bore six children.
x 2. My grandmother said that she has born six children.
J 3. My grandmother said that she had borne six children.

x 4. My grandmother said she bore six children.

Question ID : 98958016119
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate meaning of the given idiom.

Have one's hands full

Ans X" 1 to be very clumsy
J 2. to be very busy
x 3. to be very rich

x 4. to be very generous

Question ID : 98958016134
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate synonym of the given word.

REPRIMAND
Ans X" 1 eradicate

J 2. reproach

x 3. applaud

X 4. reward

Question ID : 98958016131
Status : Answered
Chosen Option: 1

Q.12 Identify the most appropriate option to substitute the underlined segment. If no substitution
is required, select No substitution.

The shoebill stork can be recognise from its long legs and broad wings.
Ans ( 1. recognised by its

x 2. recognise through it's
x 3. recognising from it's

x 4. No substitution

Question ID : 98958016121
Status : Answered
Chosen Option: 1

Q.13 Select the most appropriate synonym of the given word.

SORDID
Ans X" 1 pure

x 2. solid




x 3. clean
J 4. dirty

Question ID : 98958016130
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate antonym of the given word.
MISERY
Ans  of 1 bliss
x 2. poverty
x 3. censure
X 4. dearth

Question ID : 98958016132
Status : Answered
Chosen Option : 2

Q.15 Select the correctly spelt word.
Ans X" 1 gayety

“ 2. gaiety
x 3. gaity
x 4. gaeity

Question ID : 98958016138
Status : Answered
Chosen Option : 2

Q.16 ldentify the segment which contains the grammatical error.

It was a windy autumn day and leaves were fallen rapidly from the trees.

Ans X 1. ltwasa
x 2. rapidly from trees
J 3. leaves were fallen

x 4. windy autumn day

Question ID : 98958016116
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate meaning of the given idiom.

Face the music
Ans x 1. face the enemy

x 2. get appreciation
J 3. face the criticism

x 4. enjoy the harmony

Question ID : 98958016135
Status : Answered




l Chosen Option : 3

Q.18 Fill in the blank with the most appropriate word.

The soldiers planned to attack at a precise hour so they their watches.

Ans X" 1 assessed

x 2. exchanged
X 3. restored

“ 4. synchronized

Question ID : 98958016141
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

My grandmother is the genealogist of the family. She (1)
marriages and divorces. She takes the job (2) seriously. She sends (3) _____to the
family whenever something noteworthy (4) . We recently had a bulletin about the (5)
of a relative who bequeathed his antique furniture to his descendants.

records of births, deaths,

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 1

Ans x 1. promotes

X 2. spreads
“ 3. maintains

X 4. produces

Question ID : 98958016123
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

My grandmother is the genealogist of the family. She (1)
marriages and divorces. She takes the job (2) seriously. She sends (3) to the
family whenever something noteworthy (4) . We recently had a bulletin about the (5)
of a relative who bequeathed his antique furniture to his descendants.

records of births, deaths,

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 2

Ans &1 quit
W 2 quite
X 3. quiet
X 4. quick

Question ID : 98958016124
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.




My grandmother is the genealogist of the family. She (1) records of births, deaths,
marriages and divorces. She takes the job (2) seriously. She sends (3) _____to the
family whenever something noteworthy (4) . We recently had a bulletin about the (5)
of a relative who bequeathed his antique furniture to his descendants.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 3

Ans X" 1 notices

X 2. advertisements

( 3. messages
X 4. brochures

Question ID : 98958016125
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

My grandmother is the genealogist of the family. She (1) records of births, deaths,
marriages and divorces. She takes the job (2) seriously. She sends (3) to the
family whenever something noteworthy (4) . We recently had a bulletin about the (5)
of a relative who bequeathed his antique furniture to his descendants.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 4

Ans X" 1 obtains

X 2. passes
X 3. exists
( 4. occurs

Question ID : 98958016126
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

My grandmother is the genealogist of the family. She (1) records of births, deaths,
marriages and divorces. She takes the job (2) seriously. She sends (3) _____to the
family whenever something noteworthy (4) . We recently had a bulletin about the (5)
of a relative who bequeathed his antique furniture to his descendants.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 5

Ans ( 1. demise
x 2. demolition

X 3. destruction

x 4. damage

Question ID : 98958016127
Status : Not Answered
Chosen Option : --

Q.24 Select the most appropriate passive form of the given sentence.




The store manager caught the teenager shoplifting.

Ans x 1. The teenager is caught shoplifting by the store manager.

J 2. The teenager was caught shoplifting by the store manager.
x 3. The store manager is caught shoplifting by the teenager.

x 4. The teenager has been caught shoplifting by the store manager.

Question ID : 98958016118
Status : Answered
Chosen Option: 1

Q.25 Select the wrongly spelt word.
Ans X" 1 accumulate

x 2. accommodate
( 3. accelarate

x 4. accomplice

Question ID : 98958016139
Status : Answered
Chosen Option : 3




